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BiEk RS CH T2 T H YRR ER S £

% g B - BT B % 8 B (@ ® 8 m =
B R 13,728,100 + 293, 050 14,021,150
EEAE 13,728,100
BEEEE 293, 050
T DAt IR fi 13,728,100 x 53.85% ( 35% =~ (1 — 35%) ) 7,392, 581
KR 14,021,150 + 7,392, 581 21,413,731
—REEEE 21,413,731 x 53.85% (35% + (1 — 35% ) ) — 5,025 11,526, 269
e Tid 21,413,731 + 11,526, 269 32,940, 000
EEREHELE 32,940,000 x 10.00% 3,294, 000
RHZEH 32,940,000 + 3,294, 000 36, 234, 000




BEENRE BRAEIZH DAL T F MR RI R AR A S LT

% i B - R Bify H B B & #® H =
EER 14,021, 150
ATIE - BHE - AEEER 14,021, 150
BEEFRAEER 14,021, 150
BIZTFERE 13,728,100
ETEE 415, 450
1 B fE 1.00 415, 450 415, 450
%
& - e 423,100
2 HRithiE 1.00 117, 400 117, 400
=
3 hfEkE 1.00 117, 400 117, 400
=
4 RIRRE 1.00 188, 300 188, 300
=
CONPAS B E A X 18 10, 112, 000
5 CONPASEFHER X & 1.00 10,112, 000 10, 112, 000
=
EEERBONABAOEE - 57 1,163, 400
6 BFEHEABOFAESROEE - 547 1.00 1,163, 400 1,163, 400
%
34— FILIZH T HCONPASE AR5t 689, 200
7 %ﬁiﬁ@ — X FILIZE 1T BHCONPASE A& 1.00 689, 200 689, 200
= %
BRELZEEXE 473,600
8 RIS EEXE 1.00 198, 300 198, 300
[al
9 BRETESEEHER 1.00 275, 300 2175, 300
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% L HiE - BRTiE Bify % 8 B ffi ® # mE

]

R 451, 350

10 EHERBIEER 1.00 451, 350 451, 350
=

EEER 293, 050

EHRARE 133, 050

1 E=HEARE 1.00 133, 050 133, 050
=

R 160, 000

12 $BRES 1.00 160, 000 160, 000
=
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RABICE T o TR RERAFES

E#5:1
& ATEXER 1Ly
% b R - K& BAGT = B f ® # # w =
BEE
A 1.00 70, 900. 00 70,900
EXETACH))
A 1.50 62, 200. 00 93, 300
ER (A)
A 2.50 55, 200. 00 138, 000
HER (B)
A 2.50 45, 300. 00 113, 250
& it {YE%8ERH : 1.00=X 415, 450. 00 415, 450
&5 :2
& . BRTHE HEEY
% L R - KT BARL = B O(f ® # # w =
EXEETTTCH))
A 1.00 62, 200. 00 62, 200
HEm (A)
A 1.00 55, 200. 00 55, 200
& Bt YE%48EH - 1.00[E 117, 400. 00 117, 400
&5 :3
A PRERE 1EHY
% L R - KT BARL = B O(f £ B i B %
F{EHAED (G&ED)
A 1.00 62, 200. 00 62, 200
A (A)
A 1.00 55, 200. 00 55, 200
& it YE%HEH - 1.00[E 117, 400. 00 117, 400




Kffi&- I/ \v7r—>

RABICE T o TR RERAFES

EF5:4
B RBR|E 1EHY
% b R - K& BAGT = B f ® # # w =
BEE
A 1.00 70, 900. 00 70,900
EXETACH))
A 1.00 62, 200. 00 62, 200
AR (A)
A 1.00 55, 200. 00 55, 200
& it {YEZ8EH - 1.00[E] 188, 300. 00 188, 300
S :5
A CONPASE BF:EFA X 15 1KLY
% L R - KT BARL = B O(f ® # # w =
Hittg
A 320.00 31, 600. 00 10, 112, 000
& B {YE%8ERH : 1.00=X 10, 112, 000. 00 10, 112, 000
&S :6
&% BEFERBORREROEE - S 1KLY
% L R - BAKTiE BARL = B O(f £ % # B &
EXEETTIEH))
A 5.00 62, 200. 00 311,000
HEm (A)
A 6.00 55, 200. 00 331, 200
e (B)
A 4.00 45, 300. 00 181, 200
AR (C)
A 6.00 35, 600. 00 213, 600
Hittg
A 4.00 31, 600. 00 126, 400
& E 1EZEEA - 1.00K 1, 163, 400. 00 1,163, 400
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H5 17
B FRA — S FILIZEH 1T BC0NPASE AR ST 1X&HY
% f] R - BIKTE BAf H = B ® B E w =
EE2THEHD)
A 3.50 62, 200. 00 217,700
HEm (A)
A 3.50 55, 200. 00 193, 200
HEm (B)
A 3.00 45, 300. 00 135, 900
HEm (C)
A 4.00 35, 600. 00 142, 400
& &t {YE%8ERH : 1.00=X 689, 200. 00 689, 200
&5 .8
2 REASFEEXE 1LY
% b R - BRTiE BAfL #H = B ® # W E w =
EE2THEH))
A 1.00 62, 200. 00 62, 200
HEm (A)
A 1.00 55, 200. 00 55, 200
HEm (B)
A 1.00 45, 300. 00 45, 300
HEm (C)
A 1.00 35, 600. 00 35, 600
& it YE%8EH - 1.00= 198, 300. 00 198, 300
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R EIZH 5T HIRI B ERAFRS

E#5:9
& BRESEERMER 1EHY
% b R - K& By = B i ® # # w =
EXETACH))
A 1.00 62, 200. 00 62, 200
FEf (A)
A 1.50 55, 200. 00 82, 800
FAf (B)
A 1.00 45, 300. 00 45,300
FAf (C)
A 1.50 35, 600. 00 53, 400
Hittg
A 1.00 31, 600. 00 31, 600
& i 1E%HEH - 1.00[ 275, 300. 00 2175, 300
&5 :10
B EBTERREER 1KLY
% L R - KT By = B O(f ® # # w =
EXEETTIEH))
A 1.50 62, 200. 00 93, 300
HEm (A)
A 2.50 55, 200. 00 138, 000
HEm (B)
A 2.50 45, 300. 00 113, 250
HEm (C)
A 3.00 35, 600. 00 106, 800
& E 1EZ5EA - 1.00K 451, 350. 00 451, 350
=: 11
& BHERARE 1X4Y
% b R - KT By = B O{f £ i w =
EHERARE
= 1.00 133, 050. 00 133, 050
& E 1EZEEA - 1.00K 133, 050. 00 133, 050
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&5 :12
2 EBARR
% f] R - BIKTE BAf #H = LI i ® B E I
EBHRRE
= 1.00 160, 000. 00 160, 000
=1 &t YEZHERN 1,00 160, 000. 00 160, 000




